PE0403 Accessory Package

9 ¥ © ©® <«

* " * Copper Nut (for Bracket)
M3x3 Screw*1| M3x5 Screw*1 M3 Nut*1 H:1.45mm*1 | M3x5 Screw*3

PCl-e Bracket*1 Adapter *1

Minerva G




